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Attempt all questions.
Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.
English version is considered to be Authentic.
i) Define “Surveying” & explain basic principles of surveying with sketch.
ii) Explain the term magnetic declination & local attraction
i) Construct diagonal scale for representative fraction is 1/3000. Show on
it 232.0 m distance.
ii) Draw conventional sign and symbol for the following.
Bench mark, North direction,  Contour line,
Chain line, Cutting, Filling
i) Differentiate between: Plain scale & Diagonal Scale
if) Differentiate between: Map and Plan
The following bearings were observed in traversing with a compass, an area
where local attraction was suspected. Find out the correct bearings and the
included angles.

Line F. B. B. B.
AB 70° 15’ 250° 15’
BC 150° 15’ 328° 15’
CD 230° 30’ 52° 00’
DE 220° 15’ 41° 15’
EA 330° 45’ 150°15’
OR

The following perpendicular offsets were taken from a survey line to a curved
boundary line.

Chainage (m) 0 5 10 15 20 25

Offset (m) 6.8 7.3 7.8 8.6 3.8 5.6

Calculate the area by Simpson’s Rule & Trapezoidal Rule.
i) Explain reciprocal ranging with neat sketch.
ii) Explain the following terms: Base line, Check line, Tie line.
A 20 m Chain was found to be 10 cm too long after chaining a distance of 3500
m It was tested again at the end of day’s work and found to be 13 cm long after
chaining a total distance of 7500 m. If the chain was correct before the
commencement of the work. Find the true distance.
OR
i) Convert the following W.C.B. to Q.B.s
40° 307, 225° 15°, 319° 15°, 127° 45’
ii) Explain different error in compass survey.
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The distance between two points measured along a slope is 350 m. find the
horizontal distance between them if,
i) angle of slope between the points is 10°,
i) The difference in level is 25 m, iii) The slope is 1:15.
i) Explain orientation of plane table.
ii) State advantages & disadvantages of plane table survey
The following readings were taken with dumpy level. 1.035, 1.500, 1.675, 1.500,
1.800, 1.950, 2.050, 2.125, 0.175, 1.620, 1.820, 2.510 Level was shifted after
third and eight reading. Calculate the RLs of all points by rise and fall method.
Apply usual checks. RL of first point is 80 m.
OR
i) List various accessories for plane table survey.
ii) State methods of plane table survey. Explain any one.
A staff reading 0.650 was taken on floor of a balcony. The staff reading taken
keeping the staff touching under side of slab is 2.355. Find the ceiling height. If
R.L. of floor is 99.110, find the R.L. of slab.
i) Explain temporary adjustment of theodolite
i) State the function of following
Shifting head, Vertical tangent screw, Clip screw
Draw a neat sketch of transit theodolite and label all parts.
OR
i) Draw contours for: Hill, Valley, Pond, Ridge line
if) Enlist uses of contour map.
State the types of theodolite and state uses of theodolite.
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